BSEH Practice Paper Marking Scheme 2
Class- XII
Military Science

Time Allowed: 2 %> Hours Max. Marks: 60
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General Instructions:

1-
2-

All questions are compulsory.

Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03
fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason
questions. Each question is of 01 mark.

Questions no. 02 to 07 are very short answer type questions, out of which 02 questions
have internal choices. These are to be answered in 40 to 60 wards. Each question carries
02 marks.

Questions no. 08 to 13 are short answer type questions, out of which 02 questions have
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03
marks.

Questions no 14 to 16 are essay type questions; all the questions have internal choice.
These are to be answered in about 250 words. Each question carries 05 marks.

Q.No.

Value Points/ Answer MM

Multiple Choice Type Questions 15x1=15
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Who said- Army marches on its stomach?
(a) Jomini

(b) Liddle Hart

(c) Napoleon

(d) JFC Fuller

Answer- Napoleon
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Which army is addressed as the Queen of the battlefield?
(a) Air Force

(b) Infantry

(c) Navy

(d) None of these

Answer- (b) Infantry
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The highest officer of the higher defence organization of India is-

(a) Defence Minister

(b) Prime Minister

(c) Chief of Defence Staff
(d) President

Answer- (d) President
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How many soldiers are there in a section?
(a) 08

(b) 09

(c) 10

(d) 11

Answer- (¢) 10

1(5)
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What is INS Vikrant?

(A) Aircraft Carrier

(B) Submarine

(C) Torpedo

(D) Helicopter

Answer- (a) Aircraft Carrier

1(6)
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Where is the Air Force Academy located in India?
(a) New Delhi

(b) Chennai

(c) Chandigarh

(d) Hyderabad

Answer- (d) Hyderabad

1(7)
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From which country has India purchased Jaguar fighter aircraft?
Answer- Britain
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Write the full form of NCC.
Answer- National Cadet Corps

1(9) JMRE UUS B3] Yod Bl olbd i 57
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Who is the author of the book ‘Armament and History’?
Answer- JFC Fuller

1(10) TAO THO SN0 oo B T BOAIR T |

LMG is the main weapon of..................
Answer- Section

1(11) SH BT FAYLH TAFT o delg H Bal |
SAR— A B ST | |

Tank was first used in the battle of.....................
Answer- Battle of Somme.

1(12) RATT AT DT JEATAY oo H Rerd B
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The headquarter of Indian Army located in ....................
Answer- New Delhi
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Assertion (A)- Indian army organization is compared to a pyramid.
Reason(R)- Because the size of the Indian army is vast.

a) Both Assertion (A) and Reason (R) are true.

b) Both Assertion (A) and Reason (R) are false.

c) Assertion (A) is true but Reason (R) is false.

d) Assertion (A) is false but Reason (R) is true.

Answer- (c) Assertion (A) is true but Reason (R) is false.

1(14)
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IIR—(T) B (A) G 2 Afhd SR (R) 39 B |

Assertion (A)- In India, the President is the supreme commander of
the armed forces.
Reason (R)- Article 55 of the constitution provides the President with
the power to direct the armed forces.

a. Both Assertion (A) and Reason (R) are true.

b. Both Assertion (A) and Reason (R) are false.

c. Assertion (A) is true but Reason (R) is false.

d. Assertion (A) is false but Reason (R) is true.
Answer- (¢) Assertion (A) is true but Reason (R) is false.

1(15)
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Assertion (A)- India was the first country in Asia to conduct a nuclear
explosion in 1974.
Reason (R)- India had conducted an underground nuclear explosion..
a) Both Assertion (A) and Reason (R) are true.
b) Both Assertion (A) and Reason (R) are false.
c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.
Answer- (d) Assertion (A) is false but Reason (R) is true.
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Very Short Answer Type Questions

06x02=12

ARAR A= WS & BIg T Sgad foIRay |
W_

1. 9189 @Rl A GREAT BRAT

2. ANRE URMTAT Pl ATARIGATTIR ASART BRI
3. ITaR® Wl | fues § FgINT &A1 fe |

Write any two objectives of the Indian Military organisation.
Answer-

1- To protect the external threats

2- To cooperate with the civil administration as per requirement
3- To cooperate in dealing with internal threats etc.

2

HaArId a1 B (AT forray |
w_

1. Hogd A=l

2. ST ¥ SThH0T

3. IS ARG &HdT Afe

Write the characteristics of armoured crops.
Answer-

1- Strong blockade

2- Attack with speed

3- Extreme firepower etc.

R o] I & ol IR cdbi & A foIRay |
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Write the name of any four tanks of Indian Army.
Answer-

1- Arjun Tank

2- Bhishma Tank

3- Karan Tank

4- Vijayanta Tank

YRd & Bl <l [qHFAIES ardl & 9 foRau |
W_

1. 3TsoUA0TH0 fashia

2. MSousovHo farTe

3. arsovudovwo fasmHrfec
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Write the name of any two Aircraft Carriers of India.
Answer-
1. INS Vikrant
2. INS Viraat
3. INS Vikramaditya

ISR hec DR B Sqeed [RdT |

W_

1. 7T &Har BT o

2. IR DI AT Bl [ddbr

3. ARA 01 FH=AT

4. I GRET & Ui SN[ U_T AT o7 |

Write the aims of NCC.

Answer-

1- Building leadership capability

2- Develop the sense of discipline

3- Character building

4- Creating awareness about national security etc.

Or
U1 F1 DI et Bl fTRay |
W_
1. T8 e
2. YHIvT gfHe

Write the units of Territorial Army.
Answer-
1- Urban Unit

2- Rural Unit

(e =R P fAydn forRay |
W_

1. IS AR B

2. O A E H SyAnf)

3. 3ferw O erHar

4. BRR ¥ TAATad e |
Write the characteristics of rocket launcher.
Answer-

1- Excessive hitting distance

2- Useful in all seasons

3- More destructive capability

4- Flexibility in fire etc.

Or
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M=

Write the features of Mirage 2000 aircraft.
Answer-

1- Fighter and interceptor aircraft

2- Rapid attack ability

3- Multi role aircraft

4- Reconnaissance capability etc.

Short Answer Type Questions

06x03=18

J=T ST B Dl dIF RIgrd {TRIy |
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I N

Write any three principles of military organization.
Answer-

Objectives

Decentralization

Flexibility

Communication means

Economy etc.

aprwbd =

3

ARA & ILUfd DI TATTRIA Tl foRay |
IR—
1. 3IJ28Q 352 (9T SMHHAY T IR M & FHY)

2. IJeT 356 (Rry H HAEMeb I fahel 8 W)
3. 30T 360 (G H O dde & )

Write the emergency powers of the President of India.

Answer-

1- Article 352 (During external aggression and internal disturbance)
2- Article 356 (During constitutional machinery fails in the states)
3- Article 360 (During financial crisis in the country)
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el AT & WRg S foRay |

ok b~

T f B1 ATt B,
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Write the main functions of the ministry of defence.
Answer-

1-
2-
3-
4-
5.

Formulation of defence policy

Giving necessary guidelines to the Armed Forces
Promotion of defence research

Work for soldiers welfare

Maintaining coordination among the armed forces etc.

11

IRAR AT & gg UIdl & YHRI BT o BIfoTY |
IR

1.

2.
3.

ICEIBCIEE RN
B REARI]
TR UId e

Describe the types of Indian Naval warships.
Answer-

1-
2-
3-

Aircraft Carrier
Destroyer
Frigates vessel etc.

12

000 @1 A= ST &1 9o BRI |
IR—

1.
2.
3.

RIBEEASEINE

T fedom

Describe the various divisions of NCC.
Answer-

1-

Senior Division

2- Junior Division
3- Girls Division

Or

TH0I00 BT WfRR fedio @1 fa o1 foRau |
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Write the wings of senior division of NCC.
Answer-

1- Army wing

2- Naval wing

3- Air wing

13
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Who comes under the second line of defence?
Answer-

1- Border Security Force

2- CRPF

3- CISF

4- ITBP

5- Assam Rifles

6- Sashastra Seema Bal etc.

Or
M TTSE @& Ugd B oy |
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3faRe el H Gfeld &l Tl BHRAT
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L

Write the main functions of Home Guards.
Answer-

1- To assist the police in internal security

2- Providing assistance during during air raid
3- To protect during emergency

4- To cooperate in transport services etc.
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Essay Type Questions

03x05=15

14

TR & RIgT=l a1 favga amren S |

o oA wWN

HIESECIREREE RG]
RSN
RERINI

[AeCa
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Explain in details the principles of Administration.
Answer-

1-
2
3
4
5
6

Foresight
Economy of power
Simplicity
Collaboration
Flexibility
Neutrality
OR

YRATI o AT DT YA ARET BT quid DI |

;

® N ook w2

9.

Describe the hierarchical structure of the Indian Army.
Answer-

1-
2.
3-
4-
5-
6-
7-
8-
9.

Headquarter
Command
Corps
Division
Brigade
Battalion
Company
Platoon
Section

5
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Mention the functions of CRPF.

Answer-

1- Cooperation in the form of reserve army
2- Control of riots

3- Cooperation in maintaining law and order
4- Dealing with left wing extremism

5- Relief and rescue during disaster

6- Protecting strategic targets

7- To cooperate in conducting peaceful elections
8- Dealing with terrorist activities

9- Participating in peacekeeping operations
10- Crowd control etc.

OR

P & UBRI IR fARIVRIT BT fad=mr BT |
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Discuss the types and characteristics of tank.
Answer-
Types of tanks

1- Heavy tank

2- Medium tank

3- Light tank

4- Amphibious tank

5- Mine sweeping tank

Characteristics of tank
1- Protection

2- Striking power

3- Flexibility

4- Fire power

5- Range of action

6- Mobility

7- Capacity of fighting

16

ool AT BT ARt iR BAAT BT U HIFTY |
W_
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AEATT
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Describe the characteristics and disadvantages of Infantry.

Answer-

Characteristics

1- Optimum capacity

2- Self reliance

3- Land holding capacity
4- Strike power

5- Mobility

6- Collaboration
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Disadvantages

1- Lack of mobility

2- Not able to carry much load
3- Shortage of work area

4- Lack of security etc.

OR

URHATY] g1 AR gD UHTT B (IR AT DI |

TRHATY] AT DI FH3TT—
1. TERIRMT 9R uRATT] el

1
2. 19 &1 J97q
3. fSUIE HT Y499
4. SNG W 999

Describe in details the atom bomb and its effects.

Answer-
Beginning of the nuclear age

1- Nuclear attack on Hiroshima
2- Nuclear attack on Nagasaki

Effects of Nuclear warfare
1- Effect of explosion

2- Effect of heat

3- Effect of radiation

4- Effect on genes
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